Simplifying Expressions (G)

Simplify each expression.

. —2a—1-1+1+2 6. V> —u+6u+6v>—1
2472 — 5742447 7. —14+y*+5—ay+ay
—utu—Sut +ut1 8 —Scy+5+1+3— 5y
. S5¢cy—5—5¢+1+4+5 9.1+ 14cz+147

. —2+5b* +b—6b* — 4b;z 10. =5+a+y+y+y
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Simplifying Expressions (G) Answers

—2a—1—1+1+2
= —2a-+1

Z+77—574+2+47
=577 —4z+2

—utu—5u+u+l1
= S5t d+u+1

. S5cy—5—5¢+1+4+5
=5cy—5c+1

. —z+5b*>+b—6b*—4bz
= —b*—4bz—z+b

Simplify each expression.

6. V- —u—+6u+6v>—1
=7V +5u—1

7. —14+y*+5—ay+ay
:y2+4

8. —5cy+5+1+3—5y*
= —5¢cy—5y* 49

9. 1+1+cz+1+z2
=cz+2z+4+3

10. =5+a+y+y+y
=a+3y—5
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